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Part I: Answer the Following questions by choosing the right answer:

1.  Determine the amount of manufacturing overhead given the following information:

 (
Included
Included
Excluded
Included
 (
Supervision is indirect
) 
Included
Excluded
)[image: ]
 (
M.O. = 2,400 + 750 + 5,000 + 800
M.O. = 8,950
)
A)  $4,010
B)  $9,800
C)  $8,950
D)  $10,540

2.  The following information is available about the August transactions of the Handy Tool Co.:
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 (
Revenue comes from sales. Then, Cost of goods sold is to be deducted.
Cost of goods sold = 746,400
)The product costs to be deducted from revenue in August amount to: 
A)  $498,000. 
B)  $744,000. 
C)  $724,800. 
D)  $746,400. 

Use the following for 3-6
The following information has been taken from the perpetual inventory system of Select Mfg. Co. for the month ended August 31:
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3.  Refer to the above data.  The total amount of inventory to be included in Select's August 31st balance sheet amounts to: 
A)  $115,000. 
 (
Inventory = R.M + W.P + F.G
Inventory = (50,000 – 40,000 + 15,000) + 55,000 + 50,000
Inventory = 130,000
)B)  $170,000. 
C)  $130,000. 
D)  Some other amount. 

 (
Total manufacturing cost to W.P. comes from:
TMC = DL + DM + MO
TMC = 15,000 + 40,000 + 25,000
TMC = 80,000
)4.  Refer to the above data.  Total manufacturing costs charged (debited) to Work-in-Process during August amount to: 
A)  $90,000. 
B)  $100,000. 
C)  $80,000. 
D)  Some other amount. 

 (
WP(BEG) + TMC(WP) – WP(OUT) = WP(END)
37,000 + 80,000 – WP(OUT) = 55,000
WP(OUT) = TCFG(FG) = 62,000
)5.  Refer to the above data.  The cost of finished goods manufactured in August is: 
A)  $80,000. 
B)  $62,000. 
C)  $50,000. 
D)  Some other amount. 

 (
FG(BEG) + TCFG(FG) – FG(OUT) = FG(END)
33,000 + 62,000 – FG(OUT) = 50,000
FG(OUT) = 45,000
)6.  Refer to the above data.  The cost of goods sold in August is: 
A)  $45,000. 
B)  $50,000. 
C)  $80,000. 
D)  Some other amount. 

 (
POHR = M.O./ACP
TC = D.M + D.L + MO = 24 + (18,000/150%) + 18,000
TC = 54,000
)7.  Conway Company uses a job order cost system and has established a predetermined overhead application rate for the current year of 150% of direct labor cost, based on budgeted overhead of $750,000 and budgeted direct labor cost of $500,000.  Job no. 1 was charged with direct materials of $24,000 and with overhead of $18,000.  The total cost of job no. 1: 
A)  Is $42,000. 
B)  Is $54,000. 
C)  Is $78,000. 
D)  Cannot be determined without additional information. 

 (
WP(END) = DM + DL + MO
28,750 = 4,000 + 3,000 + 6,000 + 4,500 + MO
MO = 11,250
POHR = 11,250/(3,000+4,500) = 150%
)8.  Mason Co. uses a job order cost accounting system.  At year-end the Work-in-Process Inventory controlling account showed a debit balance of $28,750.  For the two jobs in process at year-end, one showed $4,000 in direct materials and $3,000 in direct labor. The job cost sheet for the second job showed $6,000 in direct materials and $4,500 in direct labor.  If the company is using a predetermined overhead application rate based on direct labor cost, the rate is: 
A)  50%. 
B)  100%. 
C)  150%. 
D)  200%. 

 (
DM = 425, DL = 475, MO = 190
POHR = 190/475 = 40% per dollar
For 16 dollar labor = 40% * 16 = 6.4 per direct labor hour
)9.  Johnson Auto Body uses a job order cost system.  Overhead is applied to jobs on the basis of direct labor hours.  During the current period, Job No. 337 was charged $425 in direct materials, $475 in direct labor, and $190 in overhead.  If direct labor costs an average of $16 per hour, the company's overhead application rate is: 
A)  $7.27 per direct labor hour. 
B)  $6.40 per direct labor hour. 
C)  $17.50 per direct labor hour. 
D)  $40 per direct labor hour. 

10.  Gene's Metal Shop uses a job order cost system.  It applies overhead to jobs at a rate of 150% of direct labor costs.  Job No. 2617 required $600 in direct labor costs.  The job was initially budgeted to require $650 in direct labor costs.  Overhead applied to Job No. 2617 during the period amounted to: 
 (
POHR = MO/DL
150% = MO/650
MO = 650 * 150%
MO = 975
)A)  $650. 
B)  $900. 
C)  $975. 
D)  Some other amount. 

Use the following to answer 11-14
Jouvet Boat Corporation uses a job order cost system and applies overhead based on a percentage of direct labor cost.  Cost flows through the Work-in-Process Inventory account during March are given below:
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Only Job #007 was still in process at the end of March and this job had been charged with $20,000 in direct materials cost. 


 (
DM = DM(FULL) – DM(STILL IN PROCESS)
DM = 50,000 – 20,000
DM = 30,000
)11.  Refer to the information above. The amount of direct materials cost charged to completed jobs during March was: 
A)  $20,000. 
B)  $50,000. 
C)  $30,000. 
D)  Some other amount. 

 (
POHR = MO/DL
POHR = 240,000/80,000
POHR = 300%
)12.  Refer to the information above. The predetermined overhead application rate at Jouvet Boat is what percentage of direct labor costs? 
A)  33%. 
B)  67%. 
C)  300%. 
D)  400%. 

 (
DL + MO = Ending Balance -
 DM(Cost) =
 110,000 – 20,000 = 9
0,000
Since MO relation to DL is 3 to 1, then:
9
0,000 = x + (300% * x) = x + 3x = 4x
By solving, x = 22,5
00 where x: DL
Ending Balance = DL + DM + MO
110,000 = 22,500 + 2
0,000 + MO
MO = 67,5
00 | OR | since MO to DL is 3 to 1, MO = 3 * 
22,500 = 67,5
00
)13.  Refer to the information above. The amount of overhead costs applied to Job #007 during March were: 
A)  $90,000. 
B)  $26,250. 
C)  $67,500. 
D)  $60,000. 



 (
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)14.  Refer to the information above. The journal entry which accounts for the $260,000 transferred out of work in process includes a debit of $260,000 to: 
A)  Finished Goods.
B)  Cost of Goods Sold.
C)  Accounts Receivable.
D)  Sales.


Use the following to answer 15-17
Cromwell Construction applies overhead to its projects at a rate of $75 per direct labor hour.  Laborers are paid an average rate of $25 per hour.  The Washington Apartments project was charged a total of $900,000 in direct materials and $300,000 in direct labor costs. 


 (
(300,000/25) * 75 = 900,000
)15.  Refer to the information above. Overhead applied to the Washington Apartments project amounted to: 
A)  $300,000. 
B)  $600,000. 
C)  $900,000. 
D)  Some other amount. 

 (
DM + DL + MO
= 900,000 + 300,000 + 900,000
= 2,100,000
From WP credit to FG debit
)16.  Refer to the information above. The journal entry to transfer the completed Washington Apartments project to Cromwell 's finished goods inventory would include: 
A)  A debit to the Finished Goods Inventory account of $900,000. 
B)  A debit to the Finished Goods Inventory account of $2,100,000. 
C)  A debit to the Finished Goods Inventory account of $1,200,000. 
D)  A credit to the Work-in-Process Inventory account of $1,800,000. 

17.  Refer to the information above. The journal entry made by Cromwell to record the sale of the Washington Apartments project to Dauphin Development Company for $4,300,000 would include: 
 (
From FG credit to COGS debit
COGS ……………………. 2,100,000
                   FG ……………………… 2,100,000
)A)  A debit to Sales of $4,300,000. 
B)  A debit to Cost of Goods Sold of $2,100,000. 
C)  A credit to Finished Goods Inventory of $900,000. 
D)  A debit to Finished Goods Inventory of $900,000. 


Use the following to answer 18-19
Lakeside Company's budget for the coming year includes $8,000,000 for manufacturing overhead, 100,000 hours of direct labor, and 500,000 hours of machine time. 

 (
8,000,000 / 500,000 = 16 per machine hour
16 * 0.5 = 8 dollars
)18.  Refer to the above data.  If Lakeside applies overhead using a predetermined rate based on machine-hours, what amount of overhead will be assigned to a unit of output which requires 0.5 machine hours and 0.25 labor hours to complete? 
A)  $8.00. 
B)  $20.00. 
C)  $24.00. 
D)  Some other amount. 




 (
8,000,000 / 100,000 = 80
80 * 0.25 = 20
)19.  Refer to the above data.  If Lakeside applies overhead using a predetermined rate based on labor-hours, what amount of overhead will be assigned to a unit of output which requires 0.5 machine hours and 0.25 labor hours to complete? 
A)  $8.00. 
B)  $20.00. 
C)  $24.00. 
D)  Some other amount. 

 (
BEG + END – OUT
0 + 940,000 – 970,000
= -30,000
Assets cannot be negative, then, this is an impossible situation.
)20.  If it is the first year of operations and the cost of all work-in-process during the year is $940,000 and the cost of finished goods manufactured is $970,000, what is the value of the ending work-in-process inventory? 
A)  $0.
B)  $30,000.
C)  some other amount.
D)  this is an impossible situation.




































PART II: Answer the following 5 questions:

Question 1:

The following data are taken from the accounting records of Powell Mfg. Co.:

[image: ]

 (
657,000
)Compute the following for the current year:
(a) Direct materials purchased:  $___________
 (
1,237,000
) (
1,245,000
)(b) Total manufacturing costs charged to production (the Work in Process Inventory account):  $___________
 (
1,267,000
)(c) The cost of finished goods manufactured:  $___________
(d) The cost of goods sold:  $___________
 (
Computations:
(a) DM(Purchased) = DM(USED + ( DM(THIS YEAR) – DM(LAST YEAR) )
        = 637,000 + ( 80,000 – 60,000) = 657,000
(b) TMC = DL + DM + MO
  = 250,000 + 637,000 + 358,000 = 1,245,000
(c) CFGM = WP(BEG) + TMC - WP(END)
    = 36,000 + 1,245,000 – 44,000 = 1,237,000
(d) COGS = FG(BEG) + CFGM – FG(END)
    = 150,000 + 1,237,000 – 120,000 = 1,267,000
)


























Question 2:
The accounting records of Jordan Cleaning Co. include the following information about the company's manufacturing costs and inventories in 2009:

[image: ]

Complete the following Schedule of Cost of Finished Goods Manufactured for the year ended December 31, 2009:

 (
Total manufacturing cost                                                                  
835,000
                                                 
Total cost of all work in process during the year                                                    851,000
LESS: work in process inventory Dec 31, 2009                                                       (25,000)
Cost of finished goods manufacturing                                                                        826,000
) (
Manufacturing cost assigned to production                                                 
Direct material used
                                                                  269,000
Direct labor charged to production                                      107,000
Manufacturing overhead                                                         459,000
)[image: ]















Question 3:

The "flow" of manufacturing costs through the ledger of Elbe Mfg. Co. during the month of October is summarized in the following T accounts. Certain amounts have been omitted and are represented by question marks.

 (
120,000
) (
116,000
) (
3,000
) (
116,000
)[image: ]

 (
44,000
)From the data supplied above, determine each of the following amounts. Some of the required amounts already appear in the T accounts; others require a short computation.
 (
29,000
)(a) The amount of direct materials used during the month: $___________
 (
3,000
)(b) The amount paid to direct labor workers during the month: $___________
(c) The amount of accrued wages payable to direct labor workers at October 31:  $___________
 (
116,000
) (
120,000
)(d) Total manufacturing costs charged (debited) to the Work-in-Process Inventory account during the month: $___________
(e) The cost of finished goods manufactured during the month:  $___________ 





















Question 4:
Clemson Company uses a job order cost accounting system. During March three jobs were completed and the costs were computed as follows: job no. 1, $74,200; job no. 2, $49,000; job no. 3, $45,000. As of March 31, the following amounts had been charged to the Work-in-Process Inventory controlling account in the general ledger:

 (
Finished Jobs
                               
  
 
 168,200
) (
Balance, End                                
     
 
 
29,800
)[image: ]

(a) Prepare the general journal entry to reflect the jobs completed during March:

 (
Finished Goods Inventory
168,200
) (
Job #3
     
                               
  
 
    75,000
) (
Job #2
     
                               
  
 
    49,000
) (
Job #1
     
                               
  
 
    74,200
)[image: ]
 (
29,800
)
(b) Compute the cost of the unfinished jobs at March 31.  $__________
Computations 
 (
WP(END) = WP(BEG) + DL + MO + DM – Finished
WP(END) = 28,200 + 40,300 + 69,400 + 60,100 – 168,200
WP(END) = 29,800
)

























Question 5:
Chardonney Corporation makes plastic and wooden picture frames.  The company has assigned $87,000 in monthly manufacturing overhead costs to two cost pools as follows: $57,000 to power costs, and $30,000 to production set-up costs.  Additional monthly data is provided below:

[image: ]

Power costs are allocated to products using machine hours as an activity base.  Set-up costs are allocated to products based on the number of production runs each product line requires.
(a) Allocate manufacturing overhead from the activity cost pools to each product line.
(b) Compare the total per-unit cost of manufacturing plastic frames and wooden frames.
 (
(a) 
Total hours = 87,420 + 5,580 = 93,000
POHR = 57,000/93,000 = 61.29%
MO(Plastic) = 87,420 * 61.29% = 53,580
MO(Wood) = 5,580 * 61.29% = 3,419.982
Total production runs = 45 + 15 = 60
POHR = 30,000/60 = 500
MO(Plastic) = 45 * 500 = 22,500
MO(Wood) = 15 * 500 = 7,500
(b)
Total overhead for plastic = 53,580 + 22,500 = 76,080
Total Cost(plastic) = 76,080 + 81,000 + 33,360 = 190,440
Cost Per Unit(plastic) = 190,440/39,000 = 4.883
Total overhead for wood = 3,419.982 + 7,500 = 10,919.982
Total Cost(wood) = 10,919.982 + 18,360 + 72,720 = 101,999.982
Cost Per Unit(wood) = 
101,999.982/9,000 = 
11.333
(c)
Price Per Unit(plastic) = 234,000/39,000 = 6
Cost Per Unit(plastic) = 4.883
Profit(plastic) = Price(
plastic) – Cost(plastic) = 6 – 4
.883 = 1.117
Price Per Unit(wood) = 159,000/9,000 = 17.666
Cost Per Unit(wood) = 11.333
Profit(wood) = Price(wood) – Cost(wood) = 17.666 – 11.333 = 6.333
Obviously, wood frames are more profitable than plastic as 6.33 to 1.11 respectively.
)(c) On a per-unit basis, which product line appears to be most profitable?

4
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